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‘PROC’ LAGI1(N,A,Y,X,F);
\WVALUE’ N,X; MINTEG’ Nj
‘REAL’ X,F; ‘ARRAY’ A,Y;
‘BEGIN’ ‘REAL’ I,J,L;
F:=0;

‘FOR’ J:=(0 ‘STEP’ 1 ‘UNTIL’ N ‘DO’
‘BEGIN’ L:= 13
‘FOR’ 1:=0 ‘STEP’ | ‘UNTIL’ N ‘DO’



MIF/ 1 ‘NQ’ J ‘THEN’
L:=Lx (X—A[])/(A[] —A[l]);
F:=F+LxY[J]
‘END’
\END' ,

§3 HEZER
#l: ERGEESEARENN K HEEMT:
a,: —23 —0.4; —0.2; 13 43
Yjs 24; —0.,2688; —0.0768; 03 4803

REYX=—=1,55 —1; 0. 42K MIpRELHF.

£/ LAG 1 5372 DIS—21 8 B 455 .
F(—1.5)=5.6249999, F(—1)=—10,34924596x10"°,
F(0.42)=—0.29056607,
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2.2 & F

‘PROC’ AITKEN(N,A,Y,X,F);
‘WALUE’ N,X; \INTEG’ N;
‘REAL’ X,F; ‘ARRAY’ A,Y;

‘BEGIN’ ‘INTEG’ 1,J;
\FOR’ J:=( ‘STEP’ | ‘UNTIL’ N—] ‘DO’
\FOR’ I:=J+1 ‘STEP’ | ‘UNTIL’ N ‘DO’
Y:=((X—-ADXY[I] = (X-A[])xY[J])/(A[1] -A[J]);
F:=Y[N]

\END ;

§3 HELEE
. = sint
s REZBH, sin(x)=—| ——di

Y r=x,=0,462 RTAY{E.

BER: A: 0.3 0443 0,53 0.63 0,73
Y.: 0.29850; 0,396465 0,493113 0,58813; 0,68122;
X: 00462‘
N. 43

£ AITKEN i 72 DIS—21 ¥lit B4 5, F(0.462)=0.45655811,
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‘PROC’ LAG13(N,A,Y,X,F);
‘WALUE’ N,X; \REAL’ X,F;
‘ARRAY’ A,Y; \INTEG’ N;

‘BEGIN’ ‘REAL’ I,K,H,J;
\FOR’ 1:=1 ‘STEP’ | ‘UNTIL’ N—1 ‘DO’
MF/ (X—A[I])x (X—A[I+1]) ‘LQ’ 0 ‘THEN’
‘BEGIN’ K:=1I; ‘GOTO’ L ‘END’;



\IFY ABS(X—A[1]) ‘LS’ ABS(X—A[N]) ‘THEN’ K:—1]
\ELSE’ K:=N-—1;
L1: IFF K=N—1 ‘OR’ K 'NQ’ | '"AND’ ABS(X—A[K]) ‘LS
ABS(X—A [K+1))
\THEN’ K:=K—13
F:=0; ‘
‘FOR’ I:=K ‘STEP’ | ‘UNTIL’ K+2 ‘DO’
\BEGIN’ H:=1;
\FOR’ J: =K ‘STEP’ | ‘UNTIL’ K+2 ‘DO’
\IF/ J 'NQ’ I ‘THEN/
H:=Hx(X—-A[J])/(A[I]—-A[J]);
F:=F+HxY[I]
\END/
\END ;

2.3 i% 8

1. ASBREOTIEER: WIE—THRW M Ak HXT R4S SR BE MNP RS
T RAEE = AR EA NS SR EE § 1 TRz AR R R A,
2, AGBREATEAREURESEKERZERNOHI,
3. MR EE F () #4T RGN, X TFKR LT L5,
‘IF/7 ABS(X—AT[1]) ‘LS’ ABS(X—A[N]) ‘THEN’ K:=1
‘ELSE’ K:=N-—1; HaE R o
B2 x=0.421 i, RBIRD) % &4 EFIEAH 2 A RS # (0 THRAF).

§3 HESR

#l: BEH—TEEF()BIANESRENNOEEE B (TR, KEz=0,29;
0.38; 0.42 FHHYRREL(E .

Aj: 0.2 0.24; 0.28; 0,323 0.363 0,403
Y. 0,19867; 0.237703 0,27636; 0.314575; 0,35227; 0,38942;
N: 63

X: 0.29; 0.38; 0.42;

£RLAG13 i3 72 DIS—21 HLi+ H 4%
F(0.29)=0.285954680,
F(0.38)=0,370913750,
F(0.42)=0,407788750.
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§2 LAG2:i3%#

2,1 B ¥ E
WABH
N  Bix miEES S0 8.
M BRymiEES S %.
P IS AME,
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‘PROC’ LAG2(N,M,X,Y,A,B,Z,W);
‘WALUE’ N,M,X,Y; \INTEG’ M,N;
‘REAL’ X,Y,W; ‘ARRAY’ A,B,Z;
‘BEGIN’ ‘REAL’ I, LP, K, J, LR, L;
W:=0;

‘FOR’ J:=1 ‘STEP’ | ‘UNTIL’ M ‘DO’



‘FOR’ I:=1 ‘STEP’ | ‘UNTIL’ N ‘DO’

‘\BEGIN’ LP:=1;
‘FOR’ K:=1 ‘STEP’ | ‘UNTIL’ N ‘DO’
[/ K ‘NQ’ I ‘THEN’
LP: =LPx (X—A[K])/(A[I] —A[K]);
LR: =LP;
‘FOR’ L:=1 ‘STEP’/ | ‘UNTIL’ M ‘DO’
‘MIFZ L 'NQ’ J ‘THEN/
LR: =LRx (Y—B[L])/(B[J] —B[L]);
W:=W+LRxZ[J,I]

(END/

\END;

§3 BELSR

. BRMER (xv,y) RHEXNME 45 8 F & H Z(x,y) (WF#) » KT HE A
(—009!—007)5 (0.59—003)§ (0-190.1)3 (0.79009);(002)—OuG)Bf‘JE-EIﬁEWO

=¥

)
e —1 -0.8 -0,6 -0,4 -0,2 0 0.2 0.4 0.6 0.8 1
e

N\

N

-1 9 8.04 7.16 6.36 5.64 5 4.44 3.96 3.56 3.24 3

-0.8 9.04 8.12 7.28 6.52 5.84 5.24 4.72 4,28 3.92 3.64 3.44

-0.6 9.16 8.28 7.48 6.76 6.12 5.56 5.08 4.68 4.36 4.12 3.96

-0.4 9.36 8.52 7.76 7.08 6.48 5.96 5.52 5.16 4.88 4.68 4.56
-0.2 9.64 8.84 8.12 7.48 6.92 6.44 6.04 5,72 5.48 5.32 5.24
0 10 9.24 8.56 7.96 7.44 7 6.64 6.36 6.16 6.04 6
0.2 |10.44 9.72 9.08 8.52 8.04 7.64 7.32 7.08 6.92 6.84 6.84
0.4 |10.96 10.28 9.68 9.16 8.72 8.36 8.08 7.88 7.76 7.72 7.76
0.6 |11.56 10.92 10.36 9.88 9.48 9.16 8.92 8.76 8.68 8.68 8.76
0.8 |12.24 11.64 11.12 10.68 10,32 10,04 9.84 9.72 9.68 9.72 9.84
1 13 12.44 11.96 11.56 11.24 11 10.84 10,76 10.76 10.84 11

£ HLAG2 372 DIS—21 it H 45 5.
W(—=0.,9,—0,7)=8.63,
W(0.5, —0.3)=5.29,
W(0.1,0,1)=7.1299999,
W(0.7,0,9)=10.23,
W(0.2,—0.,6)=5,08,
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2.1 3 ¥ =
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P R S
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B —4E¥AB[1:M], HIEH v MM ELS G A,
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HWHSH
W R 2 U 1 A R
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\PROC’ LAG23(N,M,X,Y,A,B,Z,W);
‘WVALUE’ N,M,X,Y; ‘REAL’ X,Y,W;
\INTEG’ M, N; ‘ARRAY’ A,B,Z;

‘BEGIN’ ‘REAL’ 1,P,Q,J,L,K,H,H1;
‘FOR’ I:=] ‘STEP’ | ‘UNTIL’ N—1 ‘DO’



MF/ (X—=A[I])x (X—A[I+1]) ‘LQ’ ¢ ‘THEN’
‘BEGIN’ P:=I; ‘GOTO’ L1 ‘END’;

‘IF/ ABS(X—A[1]) ‘LS’ ABS(X—A[N])
‘THEN’ P:=] ‘ELSE’ P:=N-—1;

Li: ‘FOR’ J:=1 ‘STEP’ | ‘UNTIL’ M—1 ‘DO’
‘MF” (Y-B[])x(Y=B[J+1]) ‘LQ’ ¢ ‘THEN’
‘BEGIN’ Q:=1J; ‘GOTO’ L2 ‘END’;

‘IF/ ABS(Y—B[1]) ‘LS’ ABS(Y—B[M])
‘\THEN’ Q:=1 ‘ELSE’ Q:=M—1;
L2: ‘IFY P=N—1 ‘OR’ P ‘NQ’ 1 ‘AND’ ABS(X—A[P])'LS’ ABS(X—A[P+1])
‘THEN’ P:=P—1;
‘IF Q=M—1 ‘OR’ Q ‘NQ’ | ‘AND’ ABS(Y—B[Q]) ‘LS’ ABS(Y—B[Q+1])
‘THEN’ Q:=Q—1; W:=0;
‘FOR’ J:=Q ‘STEP’ | ‘UNTIL’ Q+2 ‘DO’
‘BEGIN’ H:=1;
‘FOR’ L:=Q ‘STEP’ | ‘UNTIL’ Q+2 ‘DO’
‘IF/ L ‘NQ’ J ‘THEN’
H:=Hx (Y—B[L])/(B[J] —B[L]);
‘FOR’ I:=P ‘STEP’ ] ‘UNTIL/ P+2 ‘DO’
‘BEGIN’ H1:=H;
‘FOR’ K:=P ‘STEP’/ | ‘UNTIL’ P+2 ‘DO’
‘IF/ K 'NQ’ I ‘THEN’ H|:=Hlx (X—A[K])/(A[I] —A[K]);
W:=W+H1xZ[J,1]
‘END’
‘END’
‘END’;

2.8 i% L]

1. ASRERIIIRER: BRI o EmEW (z,y) MBS S LR N 45 G R 8UE, 5
SIS P(x,y) BAFEIRB =D SV RN RS Sl # §1 iriR 220 %
ZICERBW (x,y) HATHEE

2. AABRRERATEEAKREURE SABEHEERPMIFER,

3. WIRULEI BB (x, ) BT, T KE &P FE T ] L 24,

I/ ABS(X—AT[1]) ‘LS’ ABS(X—A [N])
‘THEN’ P:=] ‘ELSE’ P:=N-—1;

I/ ABS(Y—B[1]) ‘LS’ ABS(Y—B[M])
‘THEN’ Q:=1 ‘ELSE’ Q:=M-—1;
R,
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W(—=0.9,—0.7)=8.63,
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